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3rd Semester Examination

ACCOUNTING AND FINANCE
SPECIALISATION (Honours)

Paper - GE 3-T
(Business Statistics)

Full Marks : 40 Time : 2 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.
Hlustrate the answers wherever necessary.

Group - A
1. Answer any five questions : 5x2=10

(a) Explain in brief : primary data and secondary
data.

(b) Calculate the GM of 2, 9 and 12.

{c) For a distribution, mean = 22, Median = 20.
Find the value of Mode.
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(2)
(d) Find the mean if C.V. = 5% and variance = 5%
and variance = 4,

() If r = 0.4, cov(x, y) = 10, o, =35, then find

the value of o,.

(O If byx = 1.5, x=5,y=7, then find the
regression equation of y on x.

(2) The measure of skewness for a certain
distribution is (-) 0.8. If lower and upper

quartiles arc 44.1 and 56.6 respectively, find the
value of median.

(h) If A and B are two independent events and

3 2
P(4)= 5 F(B)= 3 - find P(AB) and P(A+B).

Group - B
2. Answer any four questions : 4x5=20

(a) Prove that the algebric sum of the deviations of
the values from their A.M is zero. Mention any
two uses of Geometric Meam, 332



(3)
(b) An incomplete distribution is given below :

«

Variable |10-20|20-30(30-40(40-50|50-60|60-70{70-80 | Total
Frequency| 12 | 30 2 65 ? 25 18 | 229

Given, median = 46, calculate the mussing frequencies.

(¢) Calculate the variance of the following distribution :

Age(yrs.) 120-24|25-29{30-34|35-39{40-44|45-49(50-54
No. of Workers| 105 §{ 170 | 200 | 280 | 250 | 220 | 165

{d) A student obtained the mean and S.D. of 100
observations as 40 and 5.1 respectively. It was later
found that he had wrongly copied one observation
as 50 while the correct figure was 40. Calculate the
correct values of mean and S.D.

(e) Three fair coins are tossed once. Find the probability
of getting (i) at least one head, (ii) exactly one tail.

() For a binomial distribution, the mean is 3 and the
variance is 2. Find the values of # and p. Hence find
the probability that X (the variable value) is 5.
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(4)
Group - C
3. Answer any one question : 1x10=10
(a) (i) Calculate correlation coefficient between x
and y from the following data.

n=10,%x=90,% y=100,%(x-5)* =170,
Y(y—10)Y =250, S (x-5)y—10) = 40

() A random variable x has the following
probability distribution :

X 0 1 2 3

1 3 3 1
P(x): - = = —
) 3 8 8 8

Find the expectation and S.D. of x.

(b) (1) Fit a straight line trend equation to the
following data by the method of least
squares :

Year | 2010 | 2011 | 2012 | 2013 { 2014
Value! 80 1 90 | 92 | 83 | 94

(i) In a sample of 1000 items, the mean weight
is 45kg. with a standard deviation of 15kg.



(5)
Assuming the distribution to be normal, find
the number of items weighing between 40kg
and 60kg. Given ¢(0.33) = 0.6293 and ¢(1)
= (.8413. 6+4
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(6)
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(7)
3 (") FefaRe Rewme o et 31

JUA () |20-24(25-29(30-3435-39 | 40-44|45-49]50-54
i ;| 105 | 170 | 200 | 280 [ 250 | 220 | 165

() <TG 2@ 1000 ~1a=Ed 5T € AN AWM
I Cotafes AT 40 @ 5.11 [FE @ @A
(o, (1 9F0 ALIFIT T G 40-97
sfaRed 50 facaz) AR ow e FfdT TN
AL T 9T FF|

(&) fonle Frarers @ «3T Aot T =01 (W)
o 20T GI06 (ZO () B @ GF sireaw
A Wm0

(%) @ 936 s Reet 1% 3 @R (one. 2 |
‘n’ @G p -G W (@ T TS2F X (561)-AF
T 5 26T AVRA! (I 9|

fRstot - 2t
ol (¥ @ 36 4T TeF We | YX30=30

@) (=) farsa Fiffey U@ x 8 y-ag WY TR
ARG QalirER W= f39% 371

[ Turn Over ]

9/145-1650



(8)

n=10,Zx=90,% y=100,Y(x-5)* =170,

Y(y—10) =250, X(x—5)(y—10) = 40

(&) «F6 random variable (x)-€3 FHEIHIT

oo ARwe
X 0 l 2 3
1 3 3 1
P(x): -~ = | = -
A I N

X~ HOIH] O3 ANS AL ey 52|

() (W) =8 =7 T9fE rafere sfogr fomt

ARG sHied ey 7|
Year | 2010 | 201112012 [ 2013 | 2014
Value | 80 | 90 [ 92 | 83 | o4

(|1 1000 T <= o0 oo 45 (@R 92 5
AL 15 @1 i Retem {w w@
Foul TR eom 40 @ Wk 60 &
CTCAF T IR, ©f 7 T2

(ST | $(0.33) = 0.6293 @2 $(1)

= (0.8413.
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